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RECAP:2D Touch - this is essentially to measure Vy,

an open circuit,so

RaDeVs Rizwon'tbea problem colors!
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EQUIVALENCESFIT The equivalent resistance

of resistors in series is

the sum of these resistances.

The equivalent resistance Prove with KVL.

Req of a resistors in

parallel is Rey- Rio Prove with KCL.

AMPLIFIERSP r oVoltage- Controlled

Vin Vour 7Voltage Source

ö A,Vin Lo

 . Current Controlled

Int toNoRc Tin Voltage source

Voltage-Controlled on

Current Source vita oIo=Vin to

Current Controlled a

Current source o

urce

SUPERPOSITIONNVA: [y ] Jo= constant sources• [y] = 0

An easier me thad is linear superposition.

See next page & EECS 16B.



1.zero all but 1 source

V 2 . repeat for ditt. source

7/2 3 .keep repeating for all sources

1-Voth 4.sum results

1.zero in oiva Vn=V2 R

RAR,

2.zero V2: Vn=(v,.R2) = (R+R )

3 .sum both : V .Rz+VR

RitR2


